RANSKIER KEY

LEVEL -7 (Page 1)

Multiplication (Without Abacus)

Time Limit: 2min 30sec

40 Q x 4 marks (160 marks)

Time Taken:
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72X 92

n

43 x 51

1l

55x 33 = 1815
87 x 93 = 809
68 x 29 = 1992
17 x 9 - 1683
45 x 55 - QK15

78 x 48 = 374K

98 x 28 = QALY

77 x 90 = €930

63 x 75= H1Q5
50 x 75 = 375D
33 x 12= 396
20 x 85 = 1700
46 x 25= 115D

B1 %51 = 3

76 x 50 = 3300

67 x 44 - 213
35x 16= 560
31 x 48 = 1433

17 x59= 1003
76 x 41= 316
34 x 29= AS6
15 x 49 = 135
44 x 65 = 360
78 x 73 = 56QH
82 x 24=1968
39 x 93- 2691
88 x 26 =92233
33 x 48 = 1584

60 x 82 = HARO
83 x 91 = ¥553

26 x 78 = QO
93 x 93 = B&/H 9
12 x69= 329
24 x 96 = R3304
90 x 58 = 5RO
72 x68=LHLR96G
51 x36=18 3G
71 x63=LN12

Mark : 40 Q x 4 marks(160 marks)

Division (Without Abacus) 1 decimal Time Limit: 3min 30sec Time Taken:

98+34= 93 83-:23= 36 26+14=1'8  ea4:50- |.9
74+57= 1'®  35:32- 10 65:43= [.5  75:18= (]
61+46- I'S  55+36- 1.5 82+19-K43 72:57. [-2
59+21= &8 92+18= 51 93:+15- 62 g7:94. 4.0
99 +38=C 77+12- 64 78+:46- 16 59-48-. |.9
76+47= ' 844+42- 1.5 56:35- 1.6 79+83- I.4
82+23=35 89+49- I8 39:23-1-G 84-:41- 9 .0
61+34=1011  68+21=-3.2 77+67- (-] 60+26-8Q.3
75+2=R5 95:83= 1.1 62+27-2°2 77+17- (.5
36+18=a-0 72+48- 15 66+35- [+8 68 <49. 1.3

NS MA abacus

SPEEBMATHS ncnn["‘ \hs s by g wWinngr l\l'-_""'




180

Mark :

Mark : 140

Mark : 180

Mark : 140

LEVEL - 7 (Page 2)

Without Abacus Time Limit: 3 min Time Taken:
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796 || 129 || 472 ||-724 || 365 | 541 | 150 | 590 -1.72] 625
298 ||-387 ||-2.35| 149 | 561 |[-1.20 || 3.71 || -5.98 || 8.39 | -4.57
441 | 470 || 443 || 596 | 1.94 || 377 || -3.13 || 1.77 || 9.20 || 3.86
362 ||4.23||-6591[-3.50|-2.94 || 491 || 4.75 -3.55 | 6.21|[-3.93
232 144 | 566 | 1.74|[-4.05 | 3.12 || 9.22 || 7.74 || 5.13 || 3.28
&6-341 S-QQJ %83l 4 33|l EOJ QI-CI5 14-H3 IOEZJ 29 oqj :»‘-f'oI%J

-6220 |[-1723 ||-4467 || 3649 || 8988 ||-1691 || 8460 || 1499 [|-1993 || 3403

9148 || 7037 || 8485 || 2653 ||-3449 || 7019 || 9328 || 4387 || 2806 || 4116

10901 |l108F5]| 11333 [V 2348 IhFes|[HeT5 :QomJ [086H|| F668 fo%?%J
J \ JL _JL JL JL

3.90 || -3.94 || -7.53 . .

592 || 241 | 1.68| 1.65| -8.64 || 3.91| 9.37 || 580 3.43( -2.36
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5880 ([-1234 ||-4853 || 8940 ||-1157 ||-1019 ||-1140 ||-5889 ||-2899 || 7349
8367 || 7047 || 9412 ||-5879 || 8118 || 4801 {| 9272 || 3563 || 5471 || 3769
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With Abacus Time Limit: 3 min Time Taken:
(18 marks each 20 Qx 18 = 360 marks)
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91019||-11782
84151(| 44442
28748|| 16361
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[ 22598 33050 56374 50658 92225| 33375 | 64386 | 93415]| 43700 51875
93972/(|-16011||-27782||-21923 || 24679 || 32404 |-26522{|-19387||-23177|-19907
79661 || 44439]| 37880 | 92563 || 93325 ||-24773 || 58929 || 65916 40165| 91779
94363 || 29244 ||-14028 ||-20917 || 37057 || 44157 ||-15708 ||-21941||-22073-10191
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